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1) ‘Dhingla’, ‘Bhidariya’, ‘Nathdwariya’ are .-

1) Copper coins in circulation in mewar.

2y Carpet in mewar.

3) Women ’s headgear in mewar

4) Names of revenue taxes in mewar
1) S, distian, el © -

1) ¥arE ¥ wafvg a9 & s 2) WAt & & 4 & 9™

3) Tams & el & aw 4) Harz & v Hi % AW
2y In which site of Civilization has been found a eleven roomed Jarge building?

1) Kalibanga ' 2y Aabar

3) Balathal 4) Bairdth
2) e HRA AT fAsne WA oReN & few wead e d e w87

1) wEEm : 2) HEE

3) SrEYE 4) Uz
3) Who was the author of the books * Vaidac Sar’ and ' Pooja padhathit’?

1) AjithSingh : . 2) Abhay Singh-

3) Jorawar Singh ’ "~ 4) GajSingh
3) Guerar’ g T vafy gEsl B T e v

1) endiia fig 2) v e

3) WREY [§E 4) ™ Rig

4} What were ‘ Matak’, ‘Vichayat’, Chu-Sarai’?
1) The names of local taxes in Rajasthan
23 The names of regional cloths in Rajasthan

3) The names of agricultural implements

4) The local names of irrigation patterns
4) wew, Tamma, Gug w47

1) TS § ' HY % W

2) T ¥ g9l wuEl & W A

3) P IF F 7MW

4) A ¥ Wy & WEY Aam
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5} Whe re are the Havelis of © Bachawato’, ‘Rampuriyva’. *Gulecha’, *Sethivas’™ located in Rajasthan?

1) Jaisalmer 2) Sikar
3) Jodhpur 4) Bikaner

5) wosrdl, g, e, dfsar @) edfdl e § el fam #2
1) JEaEH 2y dim
3) UG 4y SRR

6) The oldest Pattern of ‘Bhumijis style’ of temple construction in Rajasthan is :-
1) The Jain temple of Sewari in Pali district
2y The Bhand dewara temple of Ramgarh -
3} The Maha Naleshwar temple of Menal
4) The Somnath temple of Dungarpur - . : .,

6) T H AW @ @ sl Qe AR B
1) el [ &1 darsl o Hidy . 2) TR % HUE S HR
3) BAE & HEEa ey S 4) SR w0 HmAy He

7) Which saying is not true regarding sant Jasnathii?

1} He was born in 1482 AD in Katriyasar village in Bikaner.

2) He meditated for twelve year’s in Katriyasar

3y He took “Samadhi’ in Katriyasar in 1506 AD
4) His teaching are collected in * Sindhudhara’ and Konda Books |

7)%3%&6%35@1‘%?{&%?&165%@@%?

1) meszéaﬁm?saﬁﬁmmmﬁgem

2) wIARART ¥ 3B 12 99 9% "rEeT @) |

3) 1506 %, #, TlY saiaray § geeer & |

4) T TUaw “Rigus” G e Wuawwﬁﬁ’gl

8) The NMustrated * Shrawak Pratikraman Churmni’ manuscnpt 1% m whic‘n s{yle of Ragast.han" o

1) Marwar 2) Mewar
3) Kotah 4) Dhundhar e
8) “erees wicgedm g arEs ARG B9 ToRe % e e W BD - PR
1) AreE 2) HarE O SR I
3) ier 4) &l ' TR
10 - &% © 4 2
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9) Which code does not match?

Author
Ay Matiram
B} Narharidas
C) Dayabai
[3) Somnath

1) A
3 C
9) wrmen

we gifem wet €7

TEHIET
A) wfam
B) wteRem
C) mamr
D) #remy

A
3»C

JCD

Book
- Lalit Lalam
- Awtar Charitra
- Daya Bodh
- Sujan Charitra
2) B
4) D
T
wfe wom
S CriclGite
gy
g ﬂﬁﬂ
2) B
4D

10) When is the Festival of ‘Jaljhulani - Ekadashi’ Celebrated in Rajasthan?

1} Aashwin Shukla Ekadashi
3) Bhadra Pad Shukla Ekadashi

2) Kartik Shukla Ekadashi
4) Shrawan Shukla Ekadashi

10) orergerdt wpmsl wer Towe ¥ w9 WA ST &7
1) iy gt uEEsh
3) RS YE el

11) Which code does not match?

2) i g T
4) ATEET T THEA

Handicrafts Place
A) Horse’s of Mamaji - ‘Basantgarh
B) Dabu print -~ Akola
C) Lakh Work - Laxamangarh, Indragarh
D) Azrak Print - Barmer
A 2) B
3»HC 4y D
-
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11) #E g gafed T 87
BRIHH] LA
A) T F O - SEHETG
B) &g e - I
C) g @ B - CEHATE, $hE
| D) I U - gEE
1y A 2) B
3) C 4 D :
12) *In India Thakur Kesari Singh Barhath is the only person who to eleminate the chain of Bondage of

mother India, Plunged his entire Family in the Freedom Strugle,”” who made this statement?

1) Mahatma Gandhi 2) RasBihari Bose
3) Subhash Chandra Bose 4) Sardar Patel

12) 97 H U HE oY wadie aRes UY =i g, ﬁ%ﬁﬁwwaﬁwﬁmaﬁmm
% o o T ORER @) EEe & g2 | sie a4 eud ead @ ¢ ‘
1) eI T 2) UERER 49
3) g T G 4) BER ued

13) The Nehru Soviet Iram:f award for the Rajasthani translation of Russian story ‘Gajban’ was given t0
whotr?? . .
1) Mangat Badal = =~ L 2) Komal Kothan _
3) Vijaydan Detha | 4y Laxml Kuman Chundawat

13) it el & qoRaEl S T %mmﬁmmmwm%mm?
1) W e Wi L 2) EEA wEE
3y foram du 4)aaiﬁ§wrﬁi§ma )

14) In which year did Governor - General Bentinck orgamsed a Darbar of local ruler‘?
1) 1832 AD s 2)0 1834 AD
3) 1829 AD " 4) 1830 AD

14) iy s & & i § S el o SR @ et R
1) 18324, 2) 1834 €.
3) 1829 €. 4) 1830%.

10 - <% 6 _
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15) Who established the “Dholpur Prajamandal?”

1) Krishna Dutt Paliwal 2} Master Aadityendra
3) Trilok Chand Mathur 4) Amrut lal Payak
§ 15 e s @) e B
. 1) oo udEw 2) WREE A
8 3) P o R 4) SO IS
; 16) Who led the movement of “Shekhavi;ati Jakat Andolan”
1) Pt. Narotam Lal Joshi 2) Pt Todarmal
3) Pt Ram Karan Aasopa 4) Pt Abhinn Hari
16) “SamEel SHd R & A9 e
1) . A @t el 2) 4. SrEvw
3) T, THEHTT ST : 4) 4. afy=s &t
I7) At the time of Independence in which category as per Indian Constitution was Rajasthan placed in ?
1) First Category ' ' 2} Second Category '
3) Third Category 4) Fist and Third Category
17)%%%%@'%@%%%%%@%
1) e A 2) R A |
3) T St 4y e ud e Al
18) To rouse Social and Political awakening in Rajasthan when did Swami Dayanand first visited
Rajasthan ?
1) May 1866 2) July 1872
3 .Tune 1865 4) SeptemberA1869 3
18) wrford wd wsrias It & g wnlt eare N qoR @ TR A 69 Bi7
1) 5E 1866 2) e 1872
3) S 1865 4) T 1869
19 Who set up the “Arya Samaj” in Mewar?
1) Vishnu Lal Pandya c 2) Radha Krishna Sharma
3) Gopinath Sharma ' 4) Kanhaiya Lal Jadam
f10- & 7
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19) Hars § <R qA” & R feE e
1) e afs
3) WG 9T

20) Which code does not match 7
Stage of Unification of Rajasthan

A)
B)
)

Third stage
Fourth stage
Fifth stage

D) Sixth stage Co-

1) A
3y C

20) e e ghferr a8 %?

TSR U0l & 9y .

B) ugd wmur -
C) 99 T - -
D) uwH T -
D A, ‘
3 C

2) TR 9l
4) ®EAT AT e

Date

18 April, 1948
30 March, 1948
15 May, 1949
26 January, 1950

2) B
4 D
N——
18 3107, 1948
30 urd, 1948
15 98, 1949
26 S=E, 1950
2B |
4) D

21) Lepgth of International bégn.éary of Rajasmaz_;'s_tate;_is -

1) 1,070 Kilometres
3) 1.869 Kilometres
21) TSI T SR @ A wE -
1) 1,070 e« o
3) 1,869 foseirmiex

22) Tropic of Cancer passes through which-of the following districts of Rajasthan ?

1) Banswara and Udaipur

3) Banswara and Chitt(_);f_garh

2) 4,85.() Kilometres
4) 5,920 Kilometres

2) 4.850 fpeirdler .
4) 5,920 Frardiey

2) Banswara-and Dungarpur

4y Udaipur and Chittorgarh .

22) &% T TN & (il J 9 e Rl & et qor 87

1) diEEE o 3y
3) SiEEEl Td R

2) dtmarg vd IRy
4) veagy va T

10 -«
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23) Presently the Aravalli mountains exist as -

1) Folded Mountains 2y Accumulaied Mountains
i 3) Residual Mounatains 4) Block Mountains
- 23) geae H srae g feme € -
1) e o % w A 2) H R B
| 3) wafite 99l % w9 H 4)@7@({%%@& .
24) Bhorat Plateau in Rajasthan is situated between - ;5,
’ 1) Mt Abu and Ambamata 2) Kumbhalgarh and Gogunda .-
3 3) Jaisamand and Pratapgarh 4) Bhensroadgarh and Bijolia ' :
24 wrorerm # e & ver fom § - .

2) FUEG - WL & A
3) SRIEHE - WAOg & 9
4) Hedeng - fashferr & &

i
b
!
-l
1
i
i
;

25) In local dialect steep sloppy mgged hIHS in Szrohi district are called -
1) Chappar . . 2) Bhakar -
3) Girwa ’ 4) Dang )
25) Rl ot & it g ws-as weifedi 5 G A ww - |
1) BT 2) WIET
3) Frar - 4) =T
26) Wakal, Watrak, Meshwo and Hatmati are {:he tributaries of which of the rivers ?
S, Mahi ) lkham
*3) Sabarmati 4) Som
26) e, g, A9l MR TURdl Rt e el B7
1) =l ©2) wTEn
L) WETEEY 0 oe.e Ay Lt Ty MLEER R
27) Winter rain in Rajasthan is caused by -
1) Retreating Monsoon D South - West Monscon
3)- North - East Monsoon 4) Mediterranean Cyclones
10 - o 9
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27) waEE § ofideeE gt B § -

1) #ed aegE 4 2) ai¥rufyes 9EgE 4

3) UL WG 4) T 9EaE g
28) Vertisols is not found in which of the following districts of Rajasthan 7

1} Jhalawar, Baran 2) Kotah, Bhartpur

3) Bundi, Banswara 4) Dholpur, Karauli
28) gy fad o & Frafafae 9 9 B el A 78 o o -

1) samErs, g 2) WIEl, WYL

3) 44, e 4) GG, HIA

29) Which one of the following forest types extends over the largest area in Rajasthan ?

1) Tropical deciduous 2) Mixed deciduous
3) Sub - Tropical evergreen 4) Dry Teak
29) faiifsn § & B4 o T § el G § B g B0
1) SURHETRE wEg 2) Wi =g
3) SUW-HcaR deEer : 4) 9% FITER
30) At what place is the wood fossil park Tocated in Rajasthan ?
1) Gadisar | 2) Akal
3} Tanot 4) Lodarv‘;a
30) TR H @S SEed TEF (wood fossil park) 68 e v fga &7
1) wErER 2) oA
3) @+e 4) s
31) On the basis of Geo-climatic evidences approximately how many years back desert dxd not exist in
Rajasthan ? o
1) 1,000 2) 7,000
3y 10,000 - ' 4) 25,000
31)ﬁmm%mmméw%ﬁﬁwwmﬁwwmﬁw
1) 1,000 ' 2y 7.000
3)" 10,000 Co 4) 25,000
i
10- o 10
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32) Which one of the following i.. the smallest agro-climatic zone in Rajasthan in «erms of Area 7 -

1) Humid South - Eastern Plain
2} Humid Southern Plain
3) Irrigated North -Western Plain
4) Flood - Prone Eastern Plain
32) &% @ ghe H TSR H U9y BTl H-eErg WUE BA-ar €
1) o o - gt AL
2) e gl e
3) Rifue e s - qﬁmﬁ a“ﬁ'
4) T e @t dem
33) Soyabean in cultivated pnmarﬂy in which of the Acro Climatic zones of Ragasthan 7
1) Flood - Prone Eastern Plain R
2) Sub-Humid Southern Plain
3) Humid South - Eastern Plain
4) brigated North - Western Plain

33) W i S TR % ThE P oy @ve H wgEer 8 @ 87 T T

3) o ofi ol e 4y T TR - o R o

34) Tharparkar breed of cows is found in which of the following districts of Rajasthan ?

1) Barmer and Jaisalmer

2) Ganganagar and Hanumangarh - . SR L R

3) Jalor and Sirohi

4) Ajmerand Bhilwara et

{4

34) gNARE T F MY oA B ﬁmﬁa ﬁ ¥ i%b—;r ﬁwﬁ i ﬁaf% %'? e

I) a_fga—{ QEE- fﬁw [ . . 2} “ Et UE{ W A j'-'.j: i f

3) W ug R S 4 PR T ST e
35) Maximum part of net irrigated area of Rajasthan is irrigated by which of the followmg SOUIces,

(2013 -14) 7 _ ‘

1) Canals ' 2) Tanks

3) Tubewells 4) Wells

10 - o 11
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35) T & w5 R dwe i S e § A e i @ R A E 013142

1) & 2) awe
3) TEH 4) FAf
36) Which of the districts of Rajasthan are benefited by Jai Narain Vyas lift of Indira Gandhi Canal ?
1y Jodbpur and Bikaner 2) Bikaner and Nagaur ' v
3) Jodhpur and Jaisalmer 4y Bikaner and Jaisalmer 1
36) e e e @ ST @ fe & o % R R arfr £7 |
1) g o dwre 2) R Od A
3) MR CF TR 4) ST T Sewdr
37) Which one of the dams built on river Chambal is pot located in Rajasthan State " R
1) Gandhi Sagar 2) Rana Pratap Sagar
3) Jawahar Sagar 4) Kota Barragé
37) wrae & W A S sty o g § faa w8 87
1) T A ‘ 2) O YEY 4
3) TETET §rR I 4) ®ier U
38) The shortest Natiopal Highway with in Rajasthan territory is -
1) NHNo.71B - 2) NHNo. 79 A
3) NHNo.11C 4) NHNo. 3
38) TTE gd § wad g i e § - |
1) T TR T 71 B 2y TR AR S 79 A
3)17@%&@31#1%@711(: 4) IER TIAA HEh 3
39) Gudha - Kishoridas and Chouth-Ka-Barbara are famous for the mining of -
9} Lead and Zinc ~ 2) Copper .
3) Iron - ore | 4) Manganese
39) Terfheiter S wie-wraer e w T & e aite A k-
1) B wd | 2) dfr
3) e - 995 4) B
10 - o3 12 7
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4()) Minerals in production of which Rajasthan holds almost monopoly ir the Country -

1} Wollastonite, Garnet 2) Granite, Marble
3) Felspar, Gypsum 4) Lead-Zinc, Yasper
40) @w B JErEd § T &1 asT § e UETEET E -
1) ARvEEEE, T 2) TIEE, HHTHE
3) weaur, fres 4) Hrm-srE, SR
'41) Lime stone rock falls in the category
1) Igneous ‘ 2) Sedimentary
3) Metamorphic o ' 4) None of the above
41) Lime stone %] Firm7a B9 v &1 &
1) AT (Igneous) 2) d@el (Sedimentary)
3y FAFE (Metamorphic) : 4) TUNE H &E AL
'42) The cfflorescence is said to be moderate in ‘bricks if salt deposits cover —--------- surface area
approximately
1) 10% : 1 2) 20%
3) 30% 4 50%
42) €1 ¥ 9eay efflorescence % AU HAE U WA —oemmmemen T ST BT 2
1) 10% ) 0 2) 20%
3) 30% : - 4) 50%
433 The percentage of impuritics in fat lime is less than
1) 5% ' S 0 2) 10%
3) 15% S 4 20%
43) 3Fg 99 ° STgEal & vioee Fefiiaa 9 ew B B
1) 5% 2) 10% SRR :
3) 15% e ) 20%
44) Which of the following cements is recommended for under water construction ?
1) Portland Cement 2} Puzzolanic¢ Cement *
3) Sulphate resisting Cement - 4) Quick setting Cement
‘ 10 - #3» 13
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44) fr=iitea o 4 SR dife ol % e B R Sugw e

1) vddve dife

2) drrEaEn (Puzzolanic) HHT
3) "ehe uidel dive

4y i S ARl e

45) Water Cement ratio to determine compressive strength of cement is taken as

1y 02 2y 0.3
3) 0.4 4) 05
45) iﬁfﬁ @] qUeT gy (compressive strength) T 8 @t od G187 @1 ogur @A £
) 0.2 2) 03
3y 04 4) 05
46) Which of the following has maximum percentage in composition of Cement
1) Silica 2) Alumina
3) Lime '4) Sulphur
46) Frwifesa § & Gfe § oiftmed uRIe (percentage) &1 ¥ |
) R 2) U
3) "9 ' 4) HERY
47) The core of cross section of an exogenous tree is called
1) Sapwood 2) Pith
3) Heartwood 4) Inner bark
47) Exogenous 38T % SIS H1C (cross section) % &% core H BT &l
1) qugs 2) fuy
3) BICYE 4) sidfis s
48) The ductility of biturnen is expressed as o
1) Time 2) Distance -
3) Speed - 4) None
48) Taefir @1 weiea s Rear R % !
1) @ 2
3) 4) TUIRE | ®E @
14

10 - &




49) The maximum size of aggregate for Marshall test sh- 1l be

1) 1.5mm - 2).2.5111111
3) 3.5 mm 4) 45 mm
49) AIYE R W AfUaH 9IRS & UIEE ®1F H @ 9@ § |
1) 1L.5mm 2) 25mm
3) 3.5 mm 4y 45 mm
50) The softening point of various bituminous grades in (degree centigrade) for paving jobs vary between
1) 10-20 2) 20-30
3) 35-70 4) 70-100
50) fafw fachm o= &1 wg& M7 €9 softening point f%1 <@ o & & | .
1) 10-20 2) 20-30 I
3) 35-70 4) 70-100
51) What shall be the ratio of modulus of elasticity to shear modulus of a material having poasorx s ratio é
of 0.5 |
D 3 2) 15 1
3) 1 4y 0.5 !
52) A cantilever beam is provided with a vertical prop at its free end. Its static indeterminacy will be:
1 Increasezi by two 2) Decreased by one
3) Increased by one 4) Remains unaltered

53) For pure bending of a beam; which one of the following equation is valid for its anaiy51s ?

H M_E_J M _E_f
I Ry 2 Ry
3y M _1_f o M_zZ_ f
El R y : R y 1

where M: bending moment; I: moment of inertia; E: modulus of elasticity; f bcndmg stressata .
distance y: from neutral axis; R: curvature; Z: section modulus

54) A simply supported beam of a span, L is subjected to a poznt load, P at its mid-span. The maximum
deflection induced will be:

: 1y Pr 2) PL

96El 24F1

3 pPC 4 PL
48FI 8EI

where El is flexural rigidity

10 - o 15

hersnow.com/previous-year-question-papers/



JCD

55) Arca moment of inertia of g circular section of diameter D 1s

1y 2 W'
32 32
3) D’ 4y m*
64 64

56) A cantilever beamn of a span L, is subjected a moment, P at its free end. The bending moment induced
at its support will be;

1) p/4 2) P13
3y P2 4) p
57) Radius of gyration of a column section having moment of inertia, I and cross sectional area A is:

ny 2) V1A
NE IA

3) VA 4) 1A

58) A column pinned at both the ends has length L and flexural rigidity EI can carry a critical load of:

1) 4r°El 2) 2x°El
L L
3) 7Kl , . 4) 7'EI
A 4L

59) If width of rectangular cross section beam is increased by ten folds and keeping cross sectmnal area
unchanged then maximum shear stress will be :

1) Increased by 10 times | 2} Reduced by 1/10”
3) Increased by five times 4) Remains unaltered
60) Static Indeterminacy of a beam ﬁxed‘ at both the ends is :
e 2) 3
3 2 @1
61) The fundamental principle of surveying is to work from the |
I} Whole to the part 2) Pax;[' té fﬁe whole
3} Lower level fo higher level ~ 4) Higher lével to fower level

61) wderr & 9w Rrgig & AN BR BT EE 8 -
1) Hyel 9 Y erifies @ e
2y NS T YW 9T @
3y TEE ' 9 S0 W @ SN
4) T T H MO R SR

10 - «% 16
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62) When the curve is 10 be set out over 2 rough gro .nd, the method used is

1} Two Theodolite method 2) Rankire method

3) Tacheometric Method 4y either (1) or (3)

H 62) 5 o v (o) o w A A e A @ e A o R
1) & fFraEmge fafy 2) TaETEq
3) cwmie faf 4) (har 3)

£l 63) Alight house of 120m height is just visible above the horizon from a ship. The correct distance (m)
between the ship and the light house considering combined correction for curvature and retraction is

1) 39.098 m 2) 42226 m

3) 39098 m 4) 42226 m

63) 1209}, &1 3arE & oF SE W, vE am g fateer B e Rl gar T s am od yag Wiy
% dre ol gft (A1 H) fbeell €0, Al 9 Ud o o e HEEE e e i e w6 -
1) 39.098 = 2) 42.226 9

3) 39098 # 4y 42226 %
64) Two straight lines intersect at an agnle of 60°. The radius of a curve joining the two straight lines is

600m. The length of long chord and mid-ordinates in metres of the curve are
1) 80.4, 600.0 - 2) 600.0,80.4

3) 600.0, 39.89 , 4) 49.89, 300.00 -

64) ﬁ@w@@iﬂ?aﬁmﬁ%wwmzéIwﬁ@‘&%@aﬁﬁﬁaﬁdﬁwaﬁﬁmwo
A1 % | gW A &l i Wi o e wd ey e e A L g -
1) 804, 600.0 2) 600.0, 80.4

3) 600.0, 39.89 | 4) 49.89, 300.00

65) In a closed loop traverse of 1 km, total length, the closing errors in departure and latitude are 0.3m
and 0.4m, respectively. The relative precision of this traverse will be

1) 1:5000 2) 1:4000
3) 1:2000 | 4) 1:3000
65) Uk fh @ Fe A & wm WY wewEn §, yois ol Al & dg gl # uw w03 A
g 0.4 1. ¥ | 3F 9% we % IeiE aRyEd e e
1) 1:5000 O 2) 1:4000
3) 1:2000 4y 1:3000
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66) The value of magnetic declination of magnetic bearing of £ 1n at noon is 3509, is

1) 10°E 2) 10°W
3) 80°E 4) 80°W

66) zig agey # gd e grdhia Beum 35008 @ o9 ang gediy Rewa w1 9 G g -
1) 10°E 2) 10°W
3) 80°E 4) 80°W

67) Three - point problem can be solved by
1) Graphical method 2) Tracing paper method
3) Trail and Error method 4) Allof these

67) Bifag auwn o [ o sa &1 o 95 -

1) fd 2) srvam v :

3) o 7 e - 4) wuga e

68) Instrument used for measuring area on a contour map is | i
1) Areameter 2) Clinometer .
3) Planimeter | 4) Graphometer

68) geEa AR F ANEW ST BT & o0 HE IHERW HE H forn v ® -
1) &3 = ' ' 2) wifgEndr
3) e - 4) TTET AT

69} Every 20m chain should be accurate to within | |
1) +8mm 2) +2mm
3) +#5mm 4) None of these

69) 20 /. & sl wrhw frw Ao ofvg & o
1) +8mm | 2 +2mm
3) +5mm 4 o A A B

70) If cross sectional area of an embankment at 30m intervals are 20, 40,.60, 50 and 30m? respectively,
then volume of the embankment on the basis of prismoidal rule i3
1) 5300m? 2) 8300m’

3) 43000 4) 6300m’
10 - o 18
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70) 30 . % HeET W U FegH N SIRY GG FHI: 20, 40, 60, 50 T 30 0 AL ¥ | e Ry
% AYAT 3H qedE B AT e €n?

1) 5300 2) 8300
3) 4300 #P | 4) 6300 HP
71) The item of the brick structure measured in sq.m is
1) Broken glass coping 2) Brick work in arches
| 3) Reinforced brick work - 4) Brick edging
b 71) $e i % oo o @ AL F 0 9w E -
1) ¢ &Y < @ @ 2) Aewd # e & :
3) wafer ge @1 &M 4) €e % fom
72) The correct order of booking dimension is g § ‘
1) Length X Breadth X Height 2) Length X Height X Breadth )
3) Height X Breadth X Length . 4y None (_)f_ the abbve
72) e, e onfe @ fred @ wd w R - | .
1) e X et X S 2) g X e X der
ey e X g X T 4) ToGF H & B A

73) During prepasation of a estimate, following factors are considered:

1) Availability of material
2) Location of site
3) Location and availability of Labour

4) All the above
73) usp FgH S9G 999, 9§ F e I @ we g o A9 g -

1) "l &l Sueea 2) Fafo =E w6t e
3) w9 it % Suwe 4) TG Tl

74) One mason in one day is expected to do the brick work in foundation and plinth with beldars are
1) 1.00m 2) 125w’
3) 1.50 m® 4 175m’

74) T ER & oY PeE OF T, 0 B9 H W9 @ Eg | B A 52 & e @ @ am =ike
1) 1.00 99 #. 2) 1.25 % #1.
3) 1.50 ¥ . 4) 1.75 7 .

10 - o 19 ?
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75) The most reliable estimate is

1) Detailed estimate 2y Preliminary estimate
3) Plinth area estimate 4) Cube rate estimate
75) qed RvaEE F9EE © -
1) faega s 2) S AT
3) TH A A 4) @ & FTIH
76) The standard light of the standard rain gauge is
{ 1) 60cm 2) 50cm
{; 3) 40c¢m 4) 30cm
g 76) " a9 W & aeE e o 2
| 1) 60cm 2) 50cm
3) 40cm " 4) 30cm

77y If the intensityof rainfall is more than the infiltration capacity of soil, then the infiltration rate will be

1) Equal to rate of rainfall
2) Equal to infiltration capacity

sy aserason®) - More than rate of rainfall-
| 4) Mere than infiltration capaeity

77)%3@31%@%%#%@%%&%@% Eﬁﬁmaa?ﬁnﬁ..

1) aul & 57 & aEy 2y fiarg evar & e
3) wof ot @ § afus 4) frema s & ot
78} Humidity refers to
1) Temperature of air 2) Pressure of ait T E
3) Moisture content of air ' 4) Volume of air
78) sEaT GRIT FAT 3| | | |
1) 4y % aEErE | 2) a1 ¥ g B
3) arg WY B ' 4) ARG F AT B
79} Kharif crop sown in
1) InJune - 2) In September _
3) In October - November 4) None of the above A E
10 - o 20
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79 wirs waw 4 S 8

1 o H 2) o |
3) I - T H 4) o0 § § @ T8
80) If in the harvest season when the river flow in low which method should be adapted for irrigation
1) Direct [rrigation 2) Storage Irrigation
3y Lift Irmigation 4) Irrigation by wells
80) uft wuer % Aray § 48 # 9z &9 § 99 AE % o S R soaeh okd
1) sEwEe e 2) WS ghhyE .
3) Fawe gORIeM 4) FU & g IS
81) A channel designed by Lacey’s theory has a mean velocity of 1m/sec. The silt factor is unity. The
hydraulic mean radius will be ‘
1) 25 m 2y 20m
3) 15m 4) 05m

sz)ﬁﬁﬁsﬁﬁmaeﬁwmaﬁéﬁmﬁaﬁwwwﬁimec %%ﬁww% xS
v e &

oS _ 2) 20m
3) 15m ¢ 4) 05m
82) According to Kz;nnedy s theory for channel design what thing of channel should be known ?
1) Width 2) Depth
3) Length 4) Both (1) and (2)
82) IS frgid % wrgaT v Rowd % R S @ @ T On mn
1) dier ' - 2) e
3) #ng 4) (1) s (2) &t
83) The difference in Jevel between the top of a bank and supply level in a canal is called
1) Berm | 2) Height of bank
3) Free.b'c'aaArﬁd 4) None of above
83) vay wet ¥ o & o ol ol wer gm & dig sl @1 v e @
1) = | | 2) d€ H HaE |
3y ofifee ' 4y sulEd A B A

21
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84) A decp well
1) Is always deeper than a shallow well
2) Has more discharge than shallow well
3) Is weaker structuraily than shallow well
4) Both (1) and (2)

84) e TEY FAT
1) UF Gud Hd § eAe Y |
2) @ o vy Sud U § S B |
3) TF TUR HU O WEAEE &Y 9 HHAN AT §
4) = (1) 3T (2)

85) The yield of a well dépends upon
1) Permeability of soil
2) Atrea of aquifer opening into the wells
3) Actual flow velocity .
4) All of the above

85)@&%?@&%%?&%%&7@

https:

[RROR————

I)ﬁ:leé’fa%wma? ‘
2) Foi § g AW oW b & i
3) arfaE wae o

4) e ol

86) The relation between duty (D) in hect. /cumec, depth of water ( A) in meters and base perxod (B} in
days is given by S o :

1) ,_198B | 2) L8648
D | D
3) A=1'98D‘ | _ 4).A28.64D
B
86) T (D) ¥ BaTvERgn H T A T (4 ) Her F v dm dfgs @) Rt § wdu b
) p=L288 | 2) ,_B64B o
D D
3) ,_198D | 4y 864D
B . - : B

10 - ¢ 22
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87) The optimum depth of kor watering for wheat crop, 18

1) 135c¢m 2y 17.5¢m

3) 195cm 4y 235cm
87) € 1 v & forg &R I i A wE §

1) 13.5 cm 2) 17.5cm

3) 195cm 4y 235cm

88) A canal which is aligned at right angles to the contour is called

1} Branch canal
3) Side slope canal
88) U WEY W dhey & way €T § Eand &
1) @ R |
3) WIS T T8

2) Contour canal

4y Water shed canal

2) el TE
4) W favTs e

89} For diversion of flood water of rivers the type of canal constructed is

1) Canal

3) Perennial canal

2) Ridge canal

4) Inundation canal

89)%%%%%%%%%&%&{%3&@%%%%

1) ¥ 2) EE G

3) HREREl 78T 4) SEEET T
90) In a Concrete Canal, Preferential velocity of water is not maintained over the foIiow;n g

1) 0.5 m/Sec 2) 1.0 m/Sec

3) . 20 m/Sec 4) 2.5 m/Sec ‘
90)@%&%@%%%%%%%@5%%#&?@%%!

1) 0.5 m/Sec 2) 1.0 m/Sec

3) 2.0 m/Sec 4y 2.5 m/Sec

91) A fully saturated soil is said to be

1) One phase system
2) Two phase system with soil and air
3) Two phase system with soil and water

4y Three phase system with soil, water and air

10 . ozo
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91) ve qft aE & gg9 e &8 IR
1) UF gy
2y TeE el ear & WA &1 wEen
3) foedl aiw ol & W9 & erawen
4) THedl, Tt Sl g & oY AT oraeen

92) Select the correct range of density index

et AR

1) 0<IDg 2) 0<ID<t

3 >0 4y D=0
92) wFE, GUHiE B q é’rtn & aaa %%

) 051D sl 2) 0<ID<1

3y ID>0 4) ID20 _
93) When the Liquid limit of a soil is ieﬂ:s than the plastlc limit, then the plasticity mdex is reported as

1) Negative 2) Zero

3 1 4) Non-Plastic (NP)
93) W ww Fyeel At 59 WA wiiteds W1 Y @ E, A WEw g e

1) FOE 2 gH
3) 1 r | gy T el

94) The property of a soil due to which the }oss in shear strength caused by remouldmg can be recamed
with the time is known as :- '

1) Activity : ' 2) Sensitivity

3) Thixotrapy ' 4) Consistency regain C -
94) MW%WWW%WMWHW&&&WW%WW Wam

¥, HEn ¢ = | ¢ o

1) ufrefad o 2) aﬁz%i%:é%

3y PR = 4w e

95) Coefficient of curvature of a well graded gravel is
1) Less than 1 2) Liesbetweenland3 .
3) Lies between 3 and 6 ' 4) Greater than.6

10 - 24
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95) T At Yaw % fag Aghdr O T 2

D 1H & 2) 187 3% 4
3) 38 6% dr 4) 6w
96) The correct increasing order of the surface areas of the given soils is
1) Sand, Siit, Colloids, Clay 2) Clay, Silt, Sand. Colloids
| 3) Silt, Sand, Colloids, Ci'ay ' 4) Sand,' Sit, Clay, Cotloids
96) fair T fredt & waE A H HE Aw B E
1) ¥, e, Homss, & . 2) &, e, T, FEEs
3y fee, @, wiegs, ® 4) M, e, ®, BAEsS
N A sand deposit has a porosity of é‘“ and ifs épccific gravity is 2.5. The critical hydraulic gradient is
equal to
1 1.0 2) 1.25
3) 1.50 . - 4) 075 _
77 e o Y o s B o g i e 25°% 1w e o a d
) 1.0 . - 2) 1.25 |
3 1.50 4y 0.75
98) The property of a soil which permits water to percolate through it, is called
1) Capillarity | 2) Céﬂsolidaﬁon |
3) Permeability 4y Moisture content
98) 5ot %1 9% Y07 REd 95w § 4 gF @ e 2, weoer § "
1) ivesa 2) EE
3) W ) Tha A

99 Consolidation settlement occurs due o
1) Expulsion of air voids
2) Expulsion of water voids

3) Re adjustment of soil molecules
4) Both (1) and (2)

16 - ‘:‘ 25
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99) =g Fued 29 &1 7w B7
1) oy fiemar & Fese |
2) a Rl w1 e
3) WEd & s & g e
4) (1) &R (2) a4

100) The initial and final void ratios of a clay sample in a consolidation test are 1.0 and 0.6 respectively. If
the initial thickness of sample is 3.0 cm then its final thickness will be

{ 1) 2.0cm 2) 24¢m

{‘. 3) 2.8cm | " 4) 32cm

£ 100) v wftarn Wt H, v T < ¥ ot oiftnr i oA 10 o 0.6 A ?%'%*!W-
&l OIS ders 3.0 TR, O sue eaﬁm rﬁa‘a‘ Bnll -
1y 20cm ' 2) 24 cm
3) 2.8cm 4) 3Z2cm ﬁ

101) The failure Plane is direct shear test is : - ‘
1) Weakest Plane ‘ 2) Major Principal Plane
C 3) Vertical Plane 4) Horizontal Plane
S 0T sy rrEOT qfram H Taweren g BT ¥

1) o w7 2) Je qHaw
3) @i THTe | 4 dfa e | o :

102) Contact pressure for flexible footing on any typé of soilis : -

1} Uniform
2) Varies with maximum at center
3) Varies with maximum edges

4) No specific trend of variation
102) feft oft wepry & Poredt Wy oy wrdielt g & foro dud g €0
1) Tt
2) %% W oriuwen & o auee e &
3) Tl W sftepen % W geear ®d §
4y e @ B ffive w9

10 -




103) In a standard proctor test, the water contect (Wy and maximum dry density ( yd max) are rela 2d as

1) yd max is linearly proportional to W
2) yd max is inversely proportional to W
3) yd max corresponds to a unique value of W
4) None of above
103) TEFET 7T T § senet (W) ofi sftmsad g6 ¥ (yd max) § Hey B
1) vd max, W FHIIUE B ¥ '

9) vd max, W & SEhATIIR € ©
3) yd max, W & FfEda 99 % ogsd §

4) =98 § ®i drwd

104) Local shear failure may occur in : -

1) Very loose soils 2) Loose sand and soft clays
3) Stiff clays only 4) Dense sand and stiff clays
104) rerrdr srogm fdmar & & | |
) T G Ry E 2)@6?[2&@??@&%#
3) Faw e Fredl & | 4) o ¥ ol w2 @ A
l{}S) Rankine’s theory of earth pressure assumes that the back of the wall is
1). Plane and rough - 2) Plane and smooth
3) Vertical and rough 4) vertical and smooth
105) i &% a1 we fuela % orgew €A # 9ae erl @
1) weed o gEh 2) T she Rdr
3y weataw iR gy 4) wuta or fawh

106) In a RC beam of rectangular cross section the percentage of tension steel reinforcement provided is

0.5 and-effective depth is' 50mm. The quantity of steel reinforcement provided such that the section
behaves as under reinforced section (Working stress method) and stress induced in the steel is 140Mpa.
The corresponding stress induced in compression concrete is : :

1) S5Mpa - - .2) 4.8Mpa |

3) ‘4.2Mpa ' 4)  1.4Mpa-

| 10- & 27
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1[37)7 In a Limit state design of a RC beam the desi- n.strength of concrete to be taken as per IS cod.
recommendation is:
0 041, 2) 0.42f,

3) {},45ka 4) 0.48fck

Where f_: concrete characteristic strength

108) Which one of the following represents effective width of flange of T-beam ?

n I 2 L
) §+bw+3Df —é—+bw+3l)f
3) L 4 L
E—2~+bw+6Df 6+bw+6Df |
109) Maximum allowec_i shear stress as per code in RC beam of M40 grade shall be :
1) 2.5Mpa 2) 3.5Mpa
3) 4.UMpa 4) 4.5Mpa

110) If welded fabric is used in RC wall having diameter equal to 16mm; the minimum ratio of vertical and

horizontal reinforcements, respectively, to gross concrete area shall be :

wesonsere ]y (L0001 and 0.002 2) 0.0012 and 0.602
3) .0025 and 0002 ' 4y 0.0025 and 0.0025
111) Which one of the following is not the correct about the shear reinforcement placing in a flexual
member ? L

1) 0.75d for vertical stirrups 2) dfor inclined stirrups

3) Maximum spacing 300mm 4 Maximum spacing 45()mr;1_
112) Minimum diameter of a longitudinal reinforcement in a RC column as per IS codal provisions shall be :
1) 16mm 2) 12mm
3y 10mm , 4) 8mm

{ 13) Which one of the following represenis minimum requirements of reinforcement in a RC slab for
deformed bars ?

1) 0.15% 2) 0.12%
3) 0.10% 4) 0.06%

114) For a RC footing ratio of its long side to short side is 1.5. The ratio of reinforcement to be provided §

in the central band width to total reinforcement in the short direction shall be :

1) 15 2) 133
3) 125 4 080
10-0:0 28
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115) In a staircase Jesign with open well, where spans partly crossiag at right angles occurs and flights are
embedded into walls for sufficient length. By what unit its effective breadth is to be increased for
design purpose as per IS code

1) 150mm 2y 110mm
3y 75mm 4y S0mm
116) When drawing in 2D, what axis do you NOT work with ?
1) X 2) Y
3) 7 4) WCS
116) v g 2D | 2l &1 dr ova fobe afems F wm T & wwd?
D T (X) 2) @& (Y)
3) FE (@) 4) 99 W " (WCS)
117) What is the minimum allowable number of layers in a drawing
1o 2y 5
31 4 4 2
117) fordi gidn & %8 4 %9 fpa «ad & afee?
e ot | 2 s
3) 1 v ' 4) 2
118) How many snap points does on object have ?
Iy 1 2) 4
3) 5 4) Depend upon object
118) W s § R @ dige 819 €7
1 _ 2y 4
3) 5 4y SifEsTe W Y @ ©
119) Objects are rotated around the
1) Bottom of the object 2) Base point
3} Center of the object 4y Origin
119) sifgarae fegs ordfevs goar (dce) €iar 87
1) Htadee & 49 9 2) &9 ulge §
3) Mgwas & Tl gige 9 4) FHTT
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; 120) The origin of a drawir_ is at?
1) (0.0) 2y (LO)
3) O, 4y (L1)
120) Tt ST a1 e wel € &7
1) (0.0) 2) 1®
3 O.1) . 4) (1,1
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